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 دقیقه 07    2زبان فنی  مکانیک 

......... مجاز است.........استفاده از :....................... فی : دارد        نداردآزمون تستی نمره من    

قسمتی از امتحان است؛ پس لطفا سوال نفرمایید. فهم سوالات امتحانی ،  اطلاعات خواسته شده ، دقیقا کامل شود 

 ردیف

 

 

 

 بارم  امضا استاد  نمره پایانی نمره تئوری نمره عملی   نمره میان ترم  
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The following texts translated into Persian. (a) and (b) 
 

a)Steam enters the turbine with a high energy content and leaves after giving up 

most of it. The high-pressure steam from the boiler is expanded in nozzles to 

create a high-velocity jet of steam. The nozzle acts to convert heat energy in the 

steam into kinetic energy. This jet is directed into blades mounted on the 

periphery of a wheel or disc. 

 

 

 

 

 

 

 

 

 

 

b)A boiler is used to heat feed water in order to produce steam. The energy                                     

released by the burning fuel in the boiler furnace is stored (as temperature and 

pressure) in the steam produced. All boilers have a furnace or combustion 

chamber where fuel is burnt to release its energy 

 

 

 

 

 

 

 

 

 

Translate the following words 

 
TDC , opposed piston cycle,crankshaft ,crosshead,connectingrod, 

 

turbo blower,camshaft. 
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Translate words figure below and then answer the questions. 

 
 
1)What is this figure show?  

2)Write the process cycle in order:(a,b,c,d) 
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Fill vacancies with the right words?  

 
1)A ship might reasonably be divided into three distinct areas:………………  

a) turbin,auxiliaries,engine                b) the cargo, accommodation , machinery space 

c)impulse,reaction,compounding      d)low_speed,medium_spead,high-speed  

2)The ………. arrangement is made up of a ring of nozzles followed by a ring 

of blades.  

a)impulse,reaction     b)impulse       c)reaction           d)none 

3)The term…………. is used to describe a steam turbine unit made up of a high 

pressure and a low pressure turbine.  

  a)impulse             b)astern turbine                c)reaction               d)cross-compound 

 4) The ………….. cycle is completed in two strokes of the piston or one 

Revolution (………….) of the crankshaft.  

a)two_stroke,367o   b)four_stroke,027 o    c)two_stroke,187o       d)four_stroke,367o 

5) The ……………………….……. is responsible for the various systems 

which        propel and operate the ship. 

a) naval architect   b) marine engineer       c) a,b         d)none 

 

 موفق باشید. 

 

 


